
MATH 24: ODE’s Discussion Section

Meeting 5 Worksheet (7/7/22)

1. Determine whether the following equations are exact. If it is exact, find the solution:

(a) (2x+ 3) + (2y − 2)y′ = 0

(b) (2x+ 4y) + (2x− 2y)y = 0

(c) ( y
x + 6x) dx+ (lnx− 2) dy = 0

(d) x dx
(x2+y2)3/2

+ y dy
(x2+y2)3/2

= 0

2. Show that the equation y dx+(2x−yey) dy = 0 is not exact, but becomes exact when multiplied by the
integrating factor µ(x, y) = y. Solve the resulting equation. Is this a solution to the original equation?
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